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B (K) % HEH| B £ it B (R) £ HEH| B £ it BT (X) £ HEH| B % it B (X) £ HEH| B % it BT (X) £ HEH| B % it

% MET 50 65 65 130 |7k B HET 156 226 269 495|111 285 362 385 747| = EET 64 104 109 213|REH 86 128 147 275
R T 29 40 41 81|JRE BHT 226| 337 297 634 |F2X 264| 336 360 696 |3z ARHET 43 66 67 133| R SHET 46 71 89 160
$ECRHET 41 50 57 107| L% HET 91 144 176 320|R3 R 46 58 61 119 |¥5 TUER BT 35 53 51 104 |75 FiRET 32 68 72 140
HEET 78 108 104 212 |f@5K BT 24 50 40 90 |4 % FHET 434|  642| 693 1,335|tRIEFAT 21 43 47 90 | fHEz = BT 14 28 32 60
ik g 95 125 136 261 | ZHEHAT 24 34 38 72| AHET Al 117 104 221 |4 JTCHT 75 116 112 228| t B HHET 16 26 23 49
REHT 45 54 62 116 |H& BHET 55 91 80 171 | FrHsET 79 142 127 269 | EFTHT 189 257 264 521| & HET 37 56 64 120
A R T 267 385 377 762| {2 BG T 187 289 292 581 |E—TH 77 99 108 207 |Ez /T 54 68 63 131 | ZF#TRET 61 94 91 185
J\ B TEr 12 18 19 37|my ZHT 88 140 154 204|EW—TH 96 121 152 273 e EAHT 107 118 125 243 & BEHET 33 78 67 145
BT 21 34 50 84 (7K EHT 66 94 103 197|®H=TH 105 125 145 270 |4 AT 404| 532 516 1,048|ABHET 57 93 107 200
A REET 24 37 47 84 tEHTHT 14 25 28 53|EE M T B 143 187 217 404| H & THT 52 77 81 158 | & b8 B ET 22 40 54 9
R—&HT 28 33 40 B|BENHR 306 438 399 837|EWMATH 79 123 116 239 |FHfEAX 154 200 212 412 | @ S BT 35 56 Al 127
BRZFEHT 78 84 96 180|128 BM—TH 195 269 276 545 |k FE X 52 76 70 146 | BB MX 123 173 177 350 | B AHT 35 60 56 116
BR=ZHET 27 26 43 69|1EF A X 57 94| 104 198 |t RAFEX 224| 335 371 706 | FEIEMX 151 206 224 430|ILEE—TH 59 76 91 167
EVAGE S 420| 541 594|  1,135(@)IHIX 5t 1489 2231| 2256 4487|HE—TH 147 217 242 459 | B METRE 68 103 95 198|lLEA=TH 89 142 146 288
[iPAVESFS 98 126 140 266 | THAEFET 90| 127 130 257\ 5 =TH 187 272 283 555 | = s=fT 129 172 175 47(LEA=TH 89 138 140 278
Bm/I\YVER 230 322 332 654 | EHAEFET 66 103 92 195|HR=TH 154 228 236 464| FEE—TH 58 83 64 147\ILBEE®TH 145 130 175 305
USES i) 197 224| 246 470|/]> £ BT 21 37 38 75|$TRET B 123|207 207 44| FELS-TH 13 151 174 325\ ILEEAETH 86 138 147 285
$TRET 438|  674|  711|  1,385| LAAETET 63 90 97 187 | AL 353|  502| 535 1,037|EEHT 91 138 118 256(lUEAATHE 108 174 163 337
BRET 18 26 24 50| AR EFET 68 102 87 189 |t L ET 91 110 130 240|hEMX 5t 1,931 2,660| 2674| 5334|LEMX 5t 1,050 1,596 1,735 3,331
AT 13 12 19 31|1BBHX  § 308 459 444 903 | BigtIX & 3010| 4,259| 4542| 8801 |THAET 153 214 204 48| FRHER—TH 137 197 191 388
ERATX 15 18 20 38| G ILHT 92 147 164 311 | fES AT 193 278 321 599|_t = OET 51 83 88 17| FRER=-TH 94 138 120 258
BHTET 20 25 34 59| tAAHT 146 207 229 436 | HAEJIIX 87 121 139 260| 4 AT 91 129 123 252| FREER=TH 145 202|210 412
JBET 89 104 113 217| % RAET 234| 274|314 588|148 )11 55 77 104 181 | A2HET 186 307 319 626 FREFRWTH 158 219 232 451
FEARET 499 686 693| 1,379 (L EHET 66 96 115 211 |EAEJIX 45 74 79 153 |45 4. T 30 57 59 16| FRERAETH 129 184 191 375
JEERIRX 85 100 103 203 (BT HRE S BT 14 23 22 45|48 )11 T ET 109 169 192 361(Z AT 76 118 133 251 FRERATH 156 239 260 499
dtER2K 195 260 281 541 | K S HT 24 45 45 90| #1 H #RET 18 31 41 72| &l ET 120 185 183 368 FREFE—TH 133 174 189 363
JEHEARIX 60 59 77 136 [dL &R 68 70 92 162|fEIF X 5t 507 750| 876 1,626 KET 52 88 93 181| FREB-TH 139 193 189 382
JtHER4R 173| 253|242 495\ % MiEH—TH 130|  205| 219 424 |z 5K BT 411 617 588| 1,205 |FET 16 27 30 57| FREB=TH 130 185 187 372
JEHEARSX 311 412| 425 837| LRI 5t 774 1,067 1,200( 2,267 |=skAET 342| 513|538 1,051|AFIEF—TH 92 133 135 268 FREFFBWETH 104 131 150 281
JtHEAR6X 178 232|238 470 | = {RET 128 177 221 398|fRHEHT 42 73 79 152|#FE=TH 51 80 69 149| FREFBETH 131 169 170 339
=5, il = 151 194 186 380| LA R 9 13 14 27| &K EET 56 85 108 193|#FE=TH 63 91 98 189| FREFAATH 131 182 196 378
==—TH 81 107 103 210 @ E 9 16 20 36 | R HTERHET 38 64 59 123|AF(ZFmT B 95 142 136 278| FREFBLTH 173 245 265 510
EE-TH 91 120 139 259| BHEK 9 13 13 26 |/\ H R BT 47 80 86 166|#FEHETH 63 93 96 189| FHRETHE/NTH 114 149 160 309
E==TH 89 106 124 230 ;&1L BT 38 53 66 119|/\EHET 118 190 208 398|A#FIFATH 65 87 88 175| FRBE—TH 104 158 154 312
mh—TH 96 108 122 230t BRAT 19 30 26 56 |—i1ZHT 61 74 86 160|BEK—TH 89 134 135 269 FREFFE_TH 138 217 214 431
HH_TH 12 147 194 341 [/ I[BT 38 54 68 122 | & ERET 149  230| 240 470X —TH 52 76 79 155| FREBHX 5t | 2116| 2982| 3078 6,060
Bi5—TH 71 85 104 189 | £ /INIIBT 35 49 68 "7 REXHRE 341 508| 498 1,006 |FACHHIX 5t 1,345| 2,044 2068 4,112|#aMfT 109 149 155 304
EB-TH 112 159 144 303 | R HEAT 32 40 50 90| R EKHTR 159 233|241 474 |48 TRT 365 520| 510 1,030 |EAHHET 94 116 134 250
*E—TH 119 138 156 294 "= {R$THET 96 165 162 R27|RAER 109 157 158 315| B EHT 101 167 163 330 | FEAHAT 89 131 120 251
Z*E-TH 86 135 134 269|EAEK 78 109 106 215|— R HX 195 295|265 560 |42 <FHT 310| 428 399 827|F4H—TH 102 134 126 260
KE—TH 155 189 199 388| = [RHAT 58 94 87 181|HSVEE—TH 74 106 107 213|E HrHT 335 499 471 970|FEHM=TH 68 83 89 172
KLE=ZTH 61 64 79 143| BRBX  § 549 813 901 1,714| HSVHFEE=TH 110 152 153 305|4BpiIX 5t 1111 1,614| 1543| 3157|@M=TH 62 96 94 190
#5—TH 63 78 77 155 | & H.E] 125 216 222 438|HSVEE=TH 74 101 101 202 XiREFHT 65 103 93 196
#3%-TH 60 65 84 149 | K5k BT 85 130 146 276|HIVHESEM T B 119 177 158 335 REIREFET 90 121 17 238
BH%=TH 17 28 26 54 FARIRX 113 155 184 339|/\BHEXE 82 125 130 255 EEPN::) 73 100 97 197
BX—TH 111 176 190 366|FF R —TH 149 137 199 336 [MBHOX 5t 2,527| 3,780 3,803| 7,583 BmERBE—TH 55 74 87 161
B*=TH 10 12 1 BFMHAE=TH 60 78 76 154 =ER 60 65 80 145
BHXEAETH 89 109 128 237 | KK X 74 109 114 223 NIBEFMX 5t 867| 1,172 1,192 2,364
BRATH 47 66 74 140 [#fFH LR 120 182 176 358

BXtTH 108 129 145 274 (R FHHFRE 46 70 76 146 At 5t 24241| 34321| 35832 70,153
B*N\TH 82 118 129 247 |FHFHEEMR 44 67 56 123

BXATH 1 1 4 5|/ HEX 184 271 280 551

BX+TH 11 12 10 22| —AMIX 5t 1,000( 1,415| 1,529 2,944

MIEHX 5+ 5657| 7,479 7.991| 15470
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BT (X) 4 HEH| B X g BT (X) 4 HEH| B X g BT (X) 4 HEH| B X g BT (X) 4 HEH| B X g BT (X) 4 HEH| B &

EJN=Lri] 35 40 47 87(/\IBHET 150 198 211 409 |3 R BT 118 159 190 349 AT BT H @ 44 66 91 157| [ #EET 43 Al 78 149
EJN=1E 146 229 240 469| == HT 47 69 78 147 | A ET 223 276 311 587 | N ETIE 32 39 44 83| FAANEFHET 21 37 44 81
=) BETEE 35 49 53 102| & (LIET 197 313 339 652 |38 ;% 3 ET 202 328 347 675 N BT E 105 152 180 332| 77— LBk 29 49 44 93
EJNET 112 139 165 304 th B HT 47 85 82 167 |BAX—TH 102 152 151 303 NATEY D E 55 78 83 161 A& HT 61 87 17 204
EJNPA:ri] 32 50 52 102 (R &5 LLET 44 72 69 141 |8 RFHET 41 64 58 122 FAIRET S LA R 55 84 73 157 | [RHET 41 50 48 98
EJNE(E: 39 44 53 97| —/BHIX 5t 485 737 779| 1,516 |G EAIFAET 35 67 66 133 ;A NET O E 16 25 26 51| T EFHET 43 84 83 167
EJNE L] 44 56 64 120 |53k 5 BT 116 123 128 251 |7 2 HT 55 85 88 173 NETh E 3 2 7 9| L FFHET 97 169 180 349
EJNE e 36 45 53 98 |#B SR FTHT 88 125 129 254 |Fii = AT 153 237 234 471 ;AT N ETEL 6 5 8 13| =3RHET 31 52 55 107
Z NIk RETE 57 70 78 148 ¥k AET—T B 30 41 49 9(BAXETH 176 274 274 548 I NET AR 22 35 46 81| FHE 27 25 36 61
EJNER e 28 31 40 71|#BRABTZTH 29 39 43 82|HAX=TH 114 145 149 294 |sAT TR £ 9 9 11 20| EHE 21 33 38 71
EJNE k] 36 36 48 84|ESEART=T B 40 64 74 138 | &N & FHET 108 163 172 335 FAINETHR B 16 19 17 36| B = ET 59 88 106 194
EJNET:E 152 196 223 419 |#8kABTM T B 191 269 269 538 | & A HT 147 241 243 484 SAIRET 2R 7 5 4 9| 7l = e AT 14 26 29 55
EJNE:E: g 45 48 58 106 |#B3R &R H AT 159 187 229 416 | EABFHT 94 163 158 321 FAINET T 4 2 2 4| R FRHET 53 55 54 109
EJNE:E e 76 112 112 224 |#B 3 HIRET 114 144 149 293 | EAE7HTHT 77 104 107 211 FAINETAE 19 21 22 43| 875 KHET 27 39 43 82
=JIERTE 83 94 118 212|#83k L RHET 39 43 49 92| &8 A EET 82 109 96 205 QA Bt 393 542 614| 1,156 |FE2HET 17 20 25 45
=JIERTER 104 140 146 286 |#53% T SAT 30 37 42 79| E S FHET 306 436 425 861| FT&HE 63 90 103 193 | ZFE4ET 14 14 13 27
EJNEIN:E] 40 51 62 113|#8k A 38 58 53 111 | FrEp A E BT 31 52 40 92| FEE 95 102 139 241 | =V #EHT 5 1 4 5
EJNEIN:IES 83 95 104 199 |#&3& &0 ~F BT 167 213|251 464|FAHBX 5t 2064 3055 3,109 6,164 Bk DI 55 84 75 159 | S #ERT 4 3 3 6
= )IIFNKET 182 268 269 537 | B2 AT 80| 102 128 230 B AT 172 261 295 556 |{& B 18 36 39 75 | Bl FHT 10 11 1" 22
= IFIRETER 191 254 285 539 |E& kK 7 HT 34 36 48 84|F OIET 122 192 204 396 | KPR 21 2 19 21 |#IRET 2 2 0 2
F)IMX 5t 1556 2,047| 2270 4317 |#8%kXE T 202 266 286 552 | K FTHET 59 89 90 179 |#EiK 38 35 46 81| EpthET 1 0 1 1
REHT 271 367 431 798 |#83k X E FHET 50 87 83 170|BR;% BT 18 28 31 59|mh/R 38 65 52 117|#85= 8T 23 33 51 84
FHRET 247 321 356 677|885k KFET—TH 7 10 10 20|4THT 51 87 91 178| TKi& 25 42 43 85| % E/KHET 43 55 70 125
FREAET 37 58 58 116 [#8sRKFRT=T B 57 88 102 190 |/ 5T 4 70 76 146 | L ARB 25 39 36 75| TEAHET 60 95 106 201
RIEHAT 37 72 63 135|88skKFETET B 25 40 39 79| REFHE 59 83 76 159| K& 14 24 20 44| EHERHET 43 59 68 127
FaKSET 135  244| 233 477 |EBE B EHHT 29 40 50 90|t [RHET 50 73 86 159 |t & 52 51 67 118 |Fa ik R AT 32 60 48 108
E ST 251 368 396 764 |ESSRIX Bt 1,525 2,012| 2211 4,223 | 5 RET 22 33 36 69| SEHSMIT  5t 444 570 639  1,209|='VEFHHT 49 91 110 201
S jth BT 69 106 121 227| A ¥SHT 228| 347 369 716| B M 281 390 422 812 SR LI ET 47 75 82 157
Byl 245 331 370 701 |/NHNET 178 246 279 525 | [R#HTET 152 220 236 456 1L Bifi4r B BT 6 6 7 13
HEHET 297 419 447 866|BAX—-TH 151 214 206 420 | BBk % S ET 199 287 288 575 TATHE 18 26 19 45
[ B ERHET 29 32 40 72|/NIERET 81 121 127 248 | T 148 228 225 453 Sidtthis 5t 941| 1416 1573 2,989
ESFR 131 220 223 443 | B F BT 224 336 358 694 |ch / $ERFRET 11 21 14 35 =5 64 74 91 165
BEBEER 110 175 193 368|BASHTIL/E 44 58 65 123 |+ O ET 50 85 93 178 i 7 7 5 12
EEFEH 117 200 188 388 | HTE/ K 22 30 38 68 |4 AR ETHET 123 198 189 387 Foal 81 110 128 238
WEX 1976 2913 3119 6,032|BASRETH4t 51 79 82 161|8BXBHEX 5 1558| 2345 2452 4797 TR 32 30 47 77
EE1X 53 76 76 152 |BA S BT #E /1 31 54 58 12 B®-O 23 23 27 50
E2X 49 61 87 148 | &/ K gHT 27 39 40 79|ESRHbIE § 7,687| 11,200 11,623 22,823 g 8 6 6 12
EET3R 42 53 62 115|BHE & HT 86 146 137 283 Bra 1 2 1 3
E4AR 46 53 80 133| LR S HET 50 77 72 149 HPIREHX 25 29 32 61
EE5X 119 161 176 337| T HSET 64 92 93 185 EO#bis 5t 241 281 337 618
EET6 X 132 180 187 367| xS EHT 165 257 229 486 =[123 279 387| 404 791
RET7X 39 60 54 N4|FHHFSEH 213 321 301 622 E3=] 95 123 121 244
ERET8X 92 17 123 240 | K FRBHT 240 328 323 651 THER 0 0 0 0
EETOX 106 128 133 261|dt 7R SHET 125 175 174 349 Bughis 5t 374 510 525 1,035
EBT10RX 218 292 308 600 |78 7% SET 23 33 32 65

EE11R 36 58 51 109 | 7% S BT 52 98 89 187

EET12K 133 223 201 24| X 2,055 3051| 3072| 6,123 5 § 38,918| 55262| 58,070| 113,332
EX 5t 1,065| 1462 1538 3,000

=)l 5 4597| 6,422| 6,927| 13,349




